#xX3—13

A RARMERREEESRSHEK (1 / 2)

#F02F 5 HBRESEN
5A% (8) 02EERH (B)
A7 | meEp | ReEmEE | @unR N REEMEE | i
CNGV - CHGVH - CHGTHZS 28 F LISt DB R &

500L &
ILPG 588, 997 1,653 0 1,291,701 3,022 0
IPa 27, 808 12 0 55, 936 10 0
LG 11, 288 0 0 26,147 0 0
AG 1,000 0 0 1,625 0 0
LT 291 105 0 291 105 0
LNGV 0 0 0 0 0 0
DL 0 0 0 0
(LDH 0 0 0 0
CHGGV 0 0 0 80 0 0
ZDith 416 0 0 542 0 0
fmrmEsAst | 629800 _ too] | ] [PETEYY) I N )] N 0
XEEEALE (h) 97.8 53.1 0.0
s@sast | .50 | Lal9510 ]
aTERALL (%) 97.6

500L A £ 1000Lk
LPG 0 0 0 0
PG 560 0 880 0
LG 12 60 114 80
LT 0 0 0 0
L 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDih 45 0 45 0
=y N o7 e | [ doe[ el
MEERA L (h) 56.5 9.1
. o7 _ime_________ ]
xaTERA L (%) 0.1

1000LLL E
LPG 1,043 481 52 1,921 1,047 132
PG 6 0 0 6 0 0
LG 9 5 0 213 88 3
LT 14 19 15 143 26 21
nL 0 0
(LDH 0 0
CHGGYV 0 0 0 0 0 0
ZDfth 40 20 0 40 20 0
mamgast | 12| 77 7] I N 7] I TS 111 R el
HEERAE (0 I 9.1 80.4 1006
Ewast [ _1wes I 30 ]
AEFREALE %) 0.3




313 HARMBERRELESSHEK 2/ 2)

702 A% HEREELH
SRS (B REERE (B)
AT | ReR | RRENEE | BLR AT | R2H | RRENEE | SLH

CNGVE R DMIE &
LY A ] o0 o ) | I oo o 0
HEERAHE_(h) 0.0 0.0 0.0 0.0
cNeVEESE .\ o L
HEERAE &) 0.0

CHeVHE SRR DM E SR
ey S I 7) R o I ) 7] o o 0
HEERAE B 0.9 0.0 0.0 0.0
CHéVh@E®s&:st .} 2 -2 ]
HEERAE ) 0.0

CHGTHE B A DR &
LY N ] o0 o ) | I o oo 0
HNEERA L (h) 0.0 0.0 0.0 0.0
CHeTHE%&St | L o
AETERAE %) 0.0




